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11/01 1203 685.7 | 26.2 |1.BIERER 3.8%|oFk
o3
2.0% ol
11/02 1208 688.6 | 28.9 |1.EER=E 4.2%|o7k
o3
202 g ol
11/03 1215 692.6 | 28.4 |1.EFERER 4.1%|oFk
o3
2.0 nE @n=4
11/06| 1219 694.8 | 28.5 |1 EFERER 4.1%|oFk
o3
202 nh oH
117071 1230 701.1 | 25.4 |1.EHER=E 3.6%|07k
o3
2.0 nh ol
11/08 1229 700.5 | 27.4 |1 .EERE 3.9%|o%k
o3
2.0= ndhs oE

11/09 | 1215 692.6 | 25.6 |1.EERER 3.7%|o%&k
o3
2.0 ngh o
11/10| 1216 693.1 | 28.6 |I. &= 4.1%|oFk
o3
202 nf oX
11/13 1225 698.3 | 28.7 |1.EF8R=R 4.1%|oFk
o3

2.0z uf of

11/14 ] 1227 699.4 | 28.9 |1.EFER=R 4.1%|o
0%

202 mg m]:

11/15 1226 698.8 | 28.0 |1.EFeR= 4.0%|o
0
2.0 ng oH
11/16 | 1227 699.4 | 28.8 |1.EFERE 4.1%|oxk
o3
202 uh oH
11/17 1229 700.5 | 26.4 |1.EFEg= 3.8%|o7
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11/20| 1229 | 700.5 | 26.3 |1.EE8R= 3.8%|ok
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2.0 md oH
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11/22 1228 700.0 | 27.3 |I.ERERE 3.9%|o7
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11/23 1213 691.4 | 26.0 |1.EERZE 3.8%|o7k
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2.0% mg oH
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